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{ Theorem: lf" chords are equidistant from the center of a circle, then they are congruent.
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Complete: JL QB = OBj then = d/\Sf" # = d»OJCIS
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g l 1. A rectangle whose dimensions are 6 by § is inscribed in a circle. Find the area of the circle in terms of pi.
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2. Anequilateral triangle is inscribed in a circle. If the perimeter of the triangle is 12J3 ,find the:area of the
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3. A regular hexagon is inscribed in a circle. jIf the perimeter of the hexagon is 54, w
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Geometry: 10.2 - Congruent Chords

Chords are
equidistant
from center

Chords in a
circle are =

Example on diagram:
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1. Given: ©0,1L0=0M=8,EF=3x+6, LZ=2x-1

Find: a) EF = 5 X"('(P b) the area of OO
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2. A square with a
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3. A regular hexagon with a perimeter of 48 is
inscribed in a circle.
a) How far is the center from cach side?
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b) Find the area of the circle.
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4. m_‘g_lg}\'im a length of 24 is inscribed in a circle with an area of 1697 . Find the width,
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= A Teglllar pentagon with a perimeter of 60 is inscribed in a circle. wW =10

To the nearest hundredth. find the distance from the center to
each side.
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